1. 5S4 (a+3b)+
a-b 9 #2?

@D -3

(a—2b)i =

® -1






3.

x=1-+v3i g4, x2-2x+1 9 gte?

@D -3 ® -2 3 0



ol
o

oln

B3|~
__
11
®
TI++[T
— =
@ ©
B~ |B
+( ]+
— =
@ @



5. x=3+2i & o, x2-6x-10 9 G FoHA L

>R
c



6. O)FIAA 2 +dx+k = 00] FLE A EE A (o] gho] HeE
gstolet,

B
=¥



oY EA 2% —x - 1

.?_

7.

HA2.

S



OJZPTAFA X2 —2x +a+1=09 F Zo] A& & 59
7H o], a ] 3ol WS Fshofzt

acr: -

o



o5 Y-S TSt x, y 9 g2 AR Y= Fstolt
2x—y=4x+10=x4+y-5

Eix=

D EBRE




10.

BS54 x-1<2& EH?

D -1<x<0
@ 1<x<3

1
—<x<l1
@2 x

@ -1<x<3

@ x<-1E=x>3



°
o
4
ol
iy

@O -15<x<12

@ —7T<x<?2

1 x2 +2x-35< 02 =97

@ -15<x<5

® -5<x<7

® -T<x<5



2x2+3x-2<0

& W7
2x2 +x-3<0

1

5 ® -2<x<1

1

5 @1<x<2



13.

xof gt o ZPFH A 2mx? 4 (5m+2)x+4m+1 = 0°] F

St A4 m o] 327

3 701 7
-2, -2 -, - -2
@® % ) 20 3 ©) 5

2
2 9 =
@ = ® =



14.

o]2HA] 2x2 — dx + 3 & HAS HLolA

@ (x-3)(2x+1)



X2 4+bx+c7tx =194 HHAgt 7 Sz,
L& a+ b+ o g et

® 11 @ -3 ® -5



16. x° Wb -3 <x<2 A u), o2 y = 42 - 20— 1 O] HUGE
M, R1596E m oItk M+ m o] FHe?

@D 11 @ 12 ® 13 @ 14 ® 15



17 WAA - dx+3 = 09] 3E Pohu?

D x=1x=-1+2i @ x=-1,x=1+2i
® x=1,x=-1+2i @ x=-1,x=1+V2i
B x=1



18.

AL A 233 - Tx2 + 11x+ 13 =02 A &
o, .

S a, B, yHIL

ohE bl L), o] FIHE ke AeE & AL

Pha+p+y

L aB+ By + ya
&b oy

7 11 13 7 13 11 13 7 11
R T T
@S-35 95 -5



NEx=a,y=b,z=cet &

9]

2x+y+z=12
x+2y+2z=3
x+y+2z=5

|

o], abe 9

® -7 3 0 @ 7 3 14

D -14



O x=2,y=3,z=4
® x=2y=3,z=5

® x=3,y=2,z=4

@ x=2,y=3,z=-4

@ x=2y=-3z=4



21. oA - (k+)x+k =09 F 2 H7F2 : 39 ], Ak

o gre o] F& Potolet.

B
=¥



o, M 9]

?g-

—x2 = 2ax + 4a — 49| HHZE Mol



23. AAHAA X3 fax? +bx+5=02 gk Fo] 2—i A wfj, AL 42 4 b2
o] k& Fotofet.

Ct
=B



